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Question # 1 of 10 ( Start time: 10:37:49 AM, 22 August 2020 ) Total Marks

t + v"jwﬂh the initial condition yo 1 at iy 0 Using Modified Euler's method. for the range
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Quiz Start Time: 10:37 AM. 22 August 2020

:

Total Marks:

While employing Trapezoidal and Simpson Rules to evaluate the double integral numerically, by using Trapezoidal and Simpson rule
with respect to ——- variablefvariables at time
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Given that % t+ «./'.EW h the initial condition yp
06 h=02is
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Question # 4 of 10 ( Start time: 10:38:55 AM. 22 August 2020 ) Total Marks: 1

Given that % 1 — . /y with the initial condition yg 1 at tp 0 find the 2nd term of Taylor series when t
=0.
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While employing Trapezoidal and Simpson Rules to evaluate the double integral nurmerically, by using Trapezoidal and Simpson rule
over -

OO

Select the correct option

Plane region

seee

Avy

SOOI




é@}f OO0 OROO-OR-O-0-I-0-O- ORI QROO-RO-O-OO-O-O-OO-O-IO-O

me: 10:37 AM. 22 August 2020
Question # 7 of 10 ( Start time: 10:39:56 AM, 22 August 2020 ) Total Marks: 1

Given that % = t + ywith the initial condition yg = 1 af ty = 0 find the 3rd term in Tayler series when t=1.5 and y//
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Question # 8 of 10 ( Start time: 10:40:27 AM, 22 August 2020 )
In solving the differential equation
v =z+y; y0)=1
h=10.2
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Given that % = t + ywith the initial conditionyp =1 at t) =
=landy/=12
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Quiz Start Time: 10:37 AM. 22 August 2020 .
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:

At which of the following points the Minimum value of 2nd derivative of function
f{x) = -(2h¢) in the interval:[1.4] exits?
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estion # 3 of 10 ( Start time: 11:03:34 AM. 22 August 2020 )

Given that % t + ywith the initial condition yo 1 at f 0 find the 2nd term in Taylor series when t:
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Given that % = E: with the initial condition y=1.01 at t=0.01. Using Euler's methed, y at t= 0.04, h=0.05, the value of
y(0.05) is
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Quiz Start Time: 11:01 AM, 22 August 2020}
Total Marks

1\ Given that % = t + ,/ywith the initial condition yg =1 at ty = 0 find the 3rd term in Taylor series when t=1. y/ =
y/[=2,and h
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Quiz Start Time: 11:01 AM. 22 August 202 .
Question # 6 of 10 ( Start time: 11:04:42 AM. 22 August 2020 )

Given that % 1 — , /ywith the initial conditionyn =1 at #p
0.25.
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Simpson's rule is a numerical method that approximates the value of a definite integral by using ...
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MTHG03:Quiz#2 Quiz Start Time: 11:01 AM. 22 August 2020

Question # 8 of 10 ( Start time: 11:05:26 AM, 22 August 2020 ) Total Marks: 1

Given that % = t + ywith the initial condition ygp =1 at ¢y = 1 find the 3rd term in Taylor series when t=1.5and y/
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Quiz Start Time: 03:18 PM. 22

:

Simpson's rule is a numerical method that approximates the value of a definite integral by using paolynomials.
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MTHG03:Quiz#2 ' Quiz Start Time: 03:18 PM. 22 August 20203

< Question # 2 of 10 ( Start time: 03:19:13 PM. 22 August 2020 ) Total Marks:

Given that % = t + ywith the initial condition yp =1 at fp = 1 find the 2nd term in Taylor series when
=1.2.
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Question # 3 of 10 { Start time: 03:19:33 PM. 22 August 2020 )

In solving the differential equation

=z+y; y0)=1
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ﬁmMMPﬁ with the initial condition ¥ = 1, ¢ = 0 Using Euler's method. y at
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:

Trapezoidal and Simpson's integrations are just a linear combination of values of the
given function at different values of the ... vanable.
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MTHB03:Quiz#2 Quiz Start Time: 03:18 PM. 22 August 202 1:’ :

< Question # 9 of 10 ( Start time- 03:21-54 PM. 22 August 2020 ) Total Marks:

Given that % = t + ,/ywith the initial condition yo =1 at g = 0 find the 3rd term in Taylor series when t=1, y/ =0.2,
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Quiz Start Time: 03:43 PM. 22 August 2023

o1 Given that d—‘: = t + ywiththein = () find the 2nd term in Taylor series wi
¢ andh=0.1.
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Question # 2 of 10 ( Start time: 03:44:14 PM, 22 August 2020 ) Total Marks: 1

u—t

. dy
Given that o prY

with the initial condition y = 1, ¢ = 0 find the 3rd term in Taylor series when t=03 and y//= 0
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:

To evaluate numerically a double integral over a rectangular region bounded by the lines x = a, x =b. y = ¢, y = d we shall employ either
trapezoidal rule or Simpson's rule, repeatedly with respect to ___variable at a time
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Total Marks

= t + ywith the initial condition yop = 1 at tp = 1 find the 2nd term in Taylor series when t=1.5 and y/
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In Trapezoidal rule, we assume that f(x) is continuous on [a. b] and we divide [a. b] into n subintervals of equal length using the
points.
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Total Marks: 1

0 find the 2nd term of Taylor series when t=0.5 and y/
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Question # 10 of 10 ( Start time: 03:46:50 PM. 22 August 2020) Total Marks: 1
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Given that =

t + ,/y with the initial condition yo =1 atf £ 0 find the 2nd term in Taylor series when
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Question # 1 of 10 { Start time: 03:52:54 PM. 22 August 2020 )

Given that % = E with the initial condition 4y = 1, ¢ = 0 Using Euler's method. y at
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Quiz Start Time: 03:52 PM. 22 August 20,

| Questio # 4 of 10 ( Start time: 03:53:52 PM, 22 August 2020 )

. Given that % t + ywith the initial condition yg =1 at # 1 find the 3rd term in Taylor series when t
=landy/f=12
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Quiz Start Time: 03:52 PM. 22 August

2 Given that % =t+ ,v,.’irwith the initial condition yp = 1 at t3 = 0 Using Modified Euler's method. for the range
: <t<06.h=02is
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While employing Trapezoidal and Simpson Rules to evaluate the double integral numencally, by using Trapezoidal an
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Quiz Start Time: 03:52 PM. 22 Augug;

Given that 3 = ¢ + /3§ with the initial cond
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Quiz Start Time: 03:52 PM, 22 August 202

n # 9 of 10 { Start time: 03:56:00 PM. 22 August 2020 )

4 Given that d—.: t + /Yy with the initial condition yo 1 at ty 0 find the 2nd term in Taylor series
and h=0.1.
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